11@241 (Kl 1@241)

/""K\ Linearized knot diagam
S =
7T 1 11 10 8 9 2 6 3 4 5

Q/“/ Solving Sequence

410558 >6—>11—>1—>3—>2—7— 9 —>> C1,C5,C8
Cyq Cs cio €11 C3 C2 C7 C9

A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar
=4 2u”® o b—1, —u®® =20+ tratu, PO+ 20+ 4 2u—1)

B=b-u—-1 v +at+u+2, v’ +u?+2u+1)

* 2 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (u*®42u*®+- .-+ b—1, —u*®—2u*®+...4a+u,

(i) Arc colorings
1
ay
ai = )

u®? + 2u48 —|— c+9uZ — u>

a5 =
as = —u+1

u®? —|—2u48—|— +5u2+u
u'® -—2u+1

¢
(v
(%,
(4
= ()
a- (- ;“;%)
-
(-
(
(£

ag =

u? +
az =
0 _ 5u8 — 8ub — 3u* + 3u? —|—1
wl? — 4yt0 — 448 + 208 + 3u? u?
u® 4+ 20" + . 4 Bbu—1
Y 18ul 4+ —2u+1

ud + 2ud +u)

a7 =

ag = w —ud +u

u’ +2u® +u
ag = \ —u® —ud+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = u* +2u*® + ... — 5u — 13

w04+ 2u*® .. . 42u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 w4200+ 8
C2 u + 21 + -+ 592u + 64
c3,C4,C10 Wl =2 -1
Cs,Cg, C8 Wl — 4+ —3u—1
Cg,C11 w4+ 2u 0920 — 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 yP0 —21y% 4 ... — 592y + 64
C2 y*0 + 11y + - - — 19712y + 4096
€3, C4, C10 Y0+ 42y -2y 4+ 1
Cs, C6, C8 y0 —d4dy® .~ 3y 41
cy, €11 y°0 — 30y + -+ + 70y + 289




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.367759 4 1.0802601
a= 1.274030 — 0.0762711
b= —2.79298 — 1.22823]

—4.88671 — 5.185771

—14.7099 4 2.71321

u = —0.367759 — 1.0802601
a= 1.274030 4 0.0762711
b= —2.79298 + 1.228231

—4.88671 + 5.185771

—14.7099 — 2.71321

u = —0.292411 4 1.1221101
a= 0.063602 + 0.1782011
b= 0.357273 + 0.4949141

0.61352 — 1.425971

—11.17419 + 2.497431

u = —0.292411 — 1.1221101
a= 0.063602 — 0.1782011
b= 10.357273 — 0.4949141

0.61352 + 1.425971

—11.17419 — 2.497431

u = —0.835547
a= 3.17253
b= 0.721481

—12.3381

—20.6750

u = —0.815626 + 0.1483611
a= 2.61545+1.177151
b= 0.549537 + 0.4519771

—7.73338 + 9.494871

—17.3734 — 6.58861

u = —0.815626 — 0.1483611
a= 2.61545—1.177151
b= 0.549537 — 0.4519771

—7.73338 — 9.494871

—17.3734 + 6.58861

u= 0.304563 4+ 1.1714501
a = —2.12969 — 0.093591
b= 4.12999 — 1.548511

—2.05727 — 0.609261

—13.40155 4+ 0.1

u= 0304563 — 1.1714501
a = —2.12969 + 0.093591
b= 4.12999 + 1.548511

—2.05727 4 0.609261

—13.40155 4+ 0.1

u = —0.777098 4 0.1289971
a = —0.922897 + 0.2545501
b= —0.222769 — 0.4777211

—2.36749 + 5.378351

—14.0557 — 6.09041




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.777098 — 0.1289971
—0.922897 — 0.2545501
—0.222769 4 0.4777211

—2.36749 — 5.378351

—14.0557 4 6.09041

0.772297 + 0.0991161
= —3.28933 + 1.313121
—0.788912 4 0.4733341

—5.29863 — 3.316971

—16.7691 + 3.08141

= 0.772297 — 0.0991161
= —3.28933 — 1.313121
—0.788912 — 0.4733341

—5.29863 + 3.316971

—16.7691 — 3.08141

—0.748495 - 0.0679171
—1.225140 — 0.3936441
0.168459 + 0.3954721

—4.29681 + 0.764421

—18.3162 — 1.27231

—0.748495 — 0.0679171
—1.225140 4 0.3936441
0.168459 — 0.3954721

—4.29681 — 0.764421

—18.3162 + 1.27231

—0.300001 + 1.2165601

= —0.732766 — 0.8437321 | —0.78921 + 3.029341 0
= 1.18393 4 1.186051

= —0.300001 — 1.2165601

= —0.732766 + 0.8437321 | —0.78921 — 3.029341 0

1.18393 — 1.186051

0.396406 + 0.6242181
1.10662 — 1.272231
—0.984367 4 0.6036271

—3.70738 — 5.149261

—14.3632 4 6.37321

0.396406 — 0.6242181
1.10662 + 1.272231
—0.984367 — 0.6036271

—3.70738 + 5.149261

—14.3632 — 6.37321

0.214240 + 1.2573201
= 0.498732 4+ 0.0740851
= —1.029970 + 0.4179241

>~ Q@ €| Q@ €|l & €| & &8 & 8|l & 8|l @ 8|l @& 8|l & 8| & &
Il

2.72213 — 2.309981




Solutions to I} V—1(vol + /—1CS) Cusp shape
= 0.214240 — 1.2573201
= 0.498732 — 0.0740851 2.72213 + 2.309981 0

= —1.029970 — 0.4179241

= 0.625043 + 0.3063321
= 1.44268 — 0.838431
= —0.575863 + 0.4741191

—4.77278 4 1.481251

—17.3142 — 0.27211

= 0.625043 — 0.3063321
= 1.44268 + 0.838431
= —0.575863 — 0.4741191

—4.77278 — 1.481251

—17.3142 + 0.27211

= —0.380094 + 1.2576401

= —2.93137 + 3.261201

= 1.75256 + 1.128771 —8.44132 + 4.365221 0
= —2.93137 — 3.261207
= —0.380094 — 1.2576401

1.75256 — 1.128771 —8.44132 — 4.365221 0

= 0.666165 -+ 0.1200101
0.966211 4+ 0.1191561
= 0.304071 — 0.2808671

—0.711738 — 0.6972731

—10.71279 4 1.151011

= 0.666165 — 0.1200101
= 0.966211 — 0.1191561
= 0.304071 + 0.2808671

—0.711738 4- 0.6972731

—10.71279 — 1.151011

= —0.019632 + 1.3517501
= 0.23638 — 1.464351
= 0.66874 + 2.339921

3.75475 + 1.244231

= —0.019632 — 1.3517501
= 0.23638 4 1.464351
= 0.66874 — 2.339921

3.75475 — 1.244231

= —0.317517 + 1.3153301
= 0.122364 — 0.3682821
= 0.462053 + 0.9962851

0.04307 +4.617871




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.317517 — 1.3153301
= 0.122364 + 0.3682821
0.462053 — 0.9962851

0.04307 — 4.617871

0.287032 + 1.3371501
1.037980 — 0.6474531
—1.40488 4- 1.301841

3.88325 — 4.201931

0.287032 — 1.3371501
1.037980 + 0.6474531
—1.40488 — 1.301841

3.88325 4 4.201931

0.331579 + 1.3300701
—1.69831 + 2.268961
2.16421 — 5.018061

—0.80897 — 7.306561

0.331579 — 1.3300701
—1.69831 — 2.268961
2.16421 + 5.018061

—0.80897 + 7.306561

0.031726 + 1.3858601
0.117801 + 1.2343801
—0.25515 — 1.610021

7.10349 — 2.649101

0.031726 — 1.3858601
0.117801 — 1.2343801
—0.25515 4 1.610021

7.10349 + 2.649101

—0.332926 + 1.3458801
—0.999826 — 0.7694021
1.25204 + 1.357251

2.27588 + 9.392501

—0.332926 — 1.3458801
—0.999826 + 0.7694021
1.25204 — 1.357251

2.27588 — 9.392501

0.202172 + 0.5622107
—0.048043 + 0.6953231
0.026647 + 0.4133861

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

1.12881 — 2.037771

—7.78527 + 5.627951




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.202172 — 0.5622101
a = —0.048043 — 0.6953231
b= 10.026647 — 0.4133861

1.12881 + 2.037771

—7.78527 — 5.627951

u = 0.237505 4 1.3838001
a = —0.179690 — 0.6989181
b= —0.46220 + 1.340141

0.55189 — 1.619661

u = 0.237505 — 1.3838001
a = —0.179690 + 0.6989181
b= —0.46220 — 1.340141

0.55189 + 1.619661

u = —0.350812 + 1.3599401
a= 122082+ 2.129711
b= —1.48792 — 4.493011

—2.97930 4 13.701401

u = —0.350812 — 1.3599401
a= 1.22082 —2.129711
b= —1.48792 + 4.493011

—2.97930 — 13.701401

u= 0.06826 + 1.416941
a = —0.365259 — 1.1755101
b= —0.35719 + 1.981981

2.73057 — 6.433681

u= 0.06826 —1.416941
a = —0.365259 4 1.1755101
b= —0.35719 — 1.981981

2.73057 + 6.433681

u = —0.166424 + 0.3698151
a = —1.27663 — 2.189991
b= 1.009330 4 0.2482401

—1.55529 + 0.784931

—9.19094 — 1.365371

u = —0.166424 — 0.3698151
a = —1.27663 + 2.189991
b= 1.009330 — 0.2482401

—1.565529 — 0.784931

—9.19094 + 1.365371

u= 0.299163
a= 0.652170
b= 10.313109

—0.616490

—16.5510




ILI=0b-—-u—1,u +a+u+2, v>+u®+2u+1)

(i) Arc colorings

0
aio = \u
1
a5— u2
—u?—u—2
ag = u+1
—u? —u—1
as = u? +u+1
—Uu
ail = U
w?+1
alz _1L2
w?+1
as = _u2
u? +1
a2: _u2
—u? —u—2
ar = u+1
-1
ag = 7u2

o= (20)

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u? — 4u — 16
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 u3
3 2
C3,Cq u’ +u +2u+1
Cs, Cg (u — 1)3
s (u+1)3
Cg,C11 w+u? -1
C10 w—u+2u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Ct yg
3 2
€3, C4, C10 Yy +3y +2y—1
3
C5,Cq, C8 (y_l)
€9, C11 vyt +2y—1

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u = —0.215080 4 1.3071401

a = —0.122561 — 0.7448621 1.37919 + 2.828121 | —10.15260 — 3.541731
b= 0.78492 + 1.307141

u = —0.215080 — 1.3071401
a = —0.122561 + 0.7448621 1.37919 — 2.828121
b= 0.78492 — 1.307141

—10.15260 +- 3.541731

u = —0.569840
a = —1.75488 —2.75839 —14.6950
b= 0.430160
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1,cr W (W0 4+ u + -+ 20u + 8)
C2 ud (u? + 210" + -+ - 4 592u + 64)
C3,Cy (u +u? +2u+ 1) —2u* ... —2u—1)
Cs, Co (=13 — 4u* 4 - = 3u—1)
s (u+ 13 — 4u* 4 - —3u—1)
C9, C11 (u® +u? — 1) (u®® 4 20 4 - — 92u — 17)
c1o (u® —u? 4+ 2u — 1) = 2u* + - —2u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,er P (y°° — 219" + - — 592y + 64)
C2 y?(y°0 4+ 11y* + - — 19712y + 4096)
€3,C4,C10 W +3y° +2y — (™ + 429" + - =2y + 1)
€55 C6, C8 (y =) (™ — 44y™ +--- =3y +1)
Co, C11 (y® —y? + 2y — D)(y°° — 30y + - - - + 70y + 289)
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